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Here are some words translated from
an artificial language
mie pie is blue light /ZL‘:
mie tie is blue berry /Z;@
o~

aie tie is rasp berry

"light fly"?

u/pie zie
2 pie mie
X aje zie

4. aie mie

If in a certain code, STUDENT is
written as RSTEDMS, then how would
TEACHER be written in the ﬁ?me

code? S 0 Zg

1. SZZDGEQ
2. SZDDGEQ

L3 SDZDGDQ

4. SDZCGDQ

Which group of letters is different
from others?

22154
‘ity%l?
2
G
~ TVWYX
e 2L 252

M——

(%)

Jwy

‘Which words could possibly mean '

2.

3.

5l W HHM 9N ¥ T A W
feg o 2-

mie pieis blue light

mie tie is blue berry

aie tie is rasp berry

fer v % dwifam ord v@mJ@
B gl 272

1. pie zie
pie mie

ale zie

Ll A N

aie mie

afs fvd ‘®ie’ ¥ STUDENT @
RSTEDMS faen w1 &, @ 39 i 4
TEACHER &1 g werrt feren smam?

SZZDGEQ
SZDDGEQ
SDZDGDQ
SDZCGDO

= L -

9 e 7o R el § Fow angg
g | fa=r 27

i. CBAED
2. JHGK
3. SRQPT
4. TYWYX



5.

6.

In the following letter sequence, some 4

of the letters are missing. These are
given in order as one of the
alternatives below. Choose the correct
alternative.

af__ao BBB_ aoao BBB...
l. affa

¥ ‘BoBa

3. acaB

4. afaf

Fill in the missing number

-3 v -3
-C 2B -3A 1
2A 7 | _B W _2
-3C -A -2B | _¢
. -3C -
2. 22C
A 3
4. 2B

Vimla used to board the train from
Metro Station A for going to her
office. Since Station A is a
terminus, she had no problem in
getting a seat. Ever since she
shifted to Locality B she finds it
difficult to get a seat, as by the
time the train reaches Locality B it
becomes  crowded.  Find the
statement among the alternatives
which must be true as per the given
information. -

ﬂsfﬁqmammﬁﬁzﬁyam
w%nﬁ%ﬁqmmﬁﬁ@m
fohe IT 38R %9 = U =i

af__aa _ BBB__ aaac__ BRR...

l. afpa
2. Bapa
3. aaof
4. afofp

A & wenet ¥ @ shw gen
TR fiw T ) wfig

~C 2B =3A

2A ? -B

-3C -A | -2B
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w
O

fevmen siffrm wm & fon ¥ 2w A
W OIVEM FTH o W A sifam
Fém%,wmaﬁu‘lzmﬁﬁaﬁé
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W H W WSl B WO 2§
I Wiz W ¥ s o § wts g
WM W H & T aw s @
¥ RU ™ word ¥ orEr fe ¥
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I. Vimla would prefer to take a bus
rather than the metro.

~“Vimla's travel to office has become
less comfortable ever since she has
shifted.

3. Commuters staying in and around
Locality. B would demand metro
services originating from station
near Locality B,

4. Vimla would look for a job close to

her home.

Ramesh started going for regular
mormning walks for controlling his
blood sugar level. He did so for
a month and also started taking
Yoga lessons, without going for
any pathological examination. He

- underwent pathological test after two

months and found that the blood sugar
level has come down. Presuming
that he had not changed his food
habits during these -two months,
which statement among the
alternatives given below follows most
logically?

. Blood sugar level comes down
after doing regular morning walk.

2. Blood sugar level comes down
after doing Yoga.

3. Blood sugar level comes down on

doing regular morning walk and
Yoga.

/ ‘Regular morning walk, Yoga or

both may bring down sugar level
despite not changing food habits.

7.

. Toaven 43t | 9 % 9sd 99 |/ WM

=R

2. wﬁﬁﬁwﬁmwwm%

IgS AR oA *1 glaw ° 9 w9
T 2

. WA B % AU @1 96 §IE B A

UM BH AR WY gfawm St di W
T B

. faua ar R F e R F1 |9

G B

W A 8 PR H wad FrEb@
0 & fou fafea w1 9 gee @
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dife, 7= < wEE o 3 e '@l
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8. Find the number in the position of ‘. 8. wyq aras® 98 (?7) 99 ™R W/

FR-T e T, @i

5 12 8 15 7 24 9 40 (
A4l 1. 41
2, 45 2. 45
23050 3. 50
4. 52 4, 52
9, Identify the number in the position 9. ‘7' @ WH W FA-° wEn g,
of *7 wifa)
o0 82 79

45 Cl\ 55 49 (4) 32 37 {”\ 12

L) ™ v
61 87 65
1. 2 I. 2
2.3 2. 3
pﬁ/S 3.5
4. 6 4. 6

10.  Find the next number in the sequence 10. eI % $9 0, 2, 24, 252, E

0,2,24,252, AR el wed @it
1. 620 1. 620
2. 1040 2. 1040
- 3120 ' 3. 3120
4. 5430 4. 5430 |



11.

Find the next number in the sequence
6, 24, 60, 120,

1. 180
2 210

N

12.

o

13.

3. 240
4. 360

11.

el % ®H 6,24,60,120,
% SFIER S Fe Wi

1. 180
2. 210
3. 240
4. 360

Find the letter to be placed in place of 12, fau ™ fa= # ‘2" 9 fafea fem e
“?* in the figure given. o & fau e @
3 44 |9
5 L] |s
7 || |?
18| |8
1. M 1. M
2. N 2. N
3. Q 3.Q
4. R 4. R
In this multiplication question the five 13, ™= W T yw § um fafba=

letters represent five different digits.
What are the actual figures? There is
no Zero.

SEAM
T

MEATS

M=3E=9,A=7T=4 58

M=4E=3A=9T=7,5=8

1.
]’M=3,E:9,A=7,T=8,s=4
3.
4.

M=4,E=9,A=3,T=7,58

demel | uta seR @ <afE T 2,
% St % W §2 9 A K
&

SEAM

T

MEATS
M=3,E=9,A=7T=4,58
M=3,E=9,A:7,T=8,Sﬂ4
M=4,E=3,A=9,T=7,S=8
M=4,E=9,A=3,T=7,S=8

= =



Identify which among the picces given 14, 9 & ¢ snFpfEl ¥ Q@ @ smpfa Ht
below will not be required to complete i, o sva fig S

the triangular pattern shown below.

& o F § T ehm)
p q r S t

2.1 2. r

3. s 3. s

4.t 4.t
~ Find the missing number in the series 15. W& &Y 2,10, 26, ,242 o
2,10, 26, , 242 e §E&m w @it

1. 80 | 1. 80

2. 8l 2. 81

3.8 3. 82

4. 84 4. 84



16.

17.

A pattem is given below. You have to 16, % ¥ 9 fen man #1 we=f R

identify which among the following £ ¥ § 9% FH-W AER & S aifed
pieces will not be required to complete .
the pattern. A A [ FA H I TE #

G {(r) {s) iy

l. q 1. g
2.r 2. r
3. s 3. s
.4. t 4.t
.Which symbol replaces the ‘7. 17. RS a3 d U qon T W 2
Figure below represent a balance. yEaEE MR () S WA W FR W
fag @ W Wl 82
- XO L
A |
XXX
L0 XXXX
A\
XX
XXXX 20
/A
L X X
2. O 2 O
] . []
a. 1O . 11O



I8.  On the basis of the four positions of a 18. 919 fRg M umi W feafy w oM T
dice given-belt’)w find the colour of the W @T 5 A8 was 3 9
face opposite "Yellow'. )

IS HAF W HEA-T 8w

P
!

1. Indigo 1. =fem
2. Red 2. ®
3. Pink 3. fisw
4. Blue 4. =

19. If the given figure is folded to form a 19. gk fau m oy = 99 % ®y 3
box, which among the boxes below .
will be formed? TR WA 3w e A G Ao
T F4M

3 4 1 2 3 4

DADD DD G



20.

21.

ol o\ e

Two positions of a dice are shown. 3.
Which number will appear on the face
opposite the one having 57
3 3
5
1 2
1 L
2 2.
4 3.
6 4.
In the figure, the circle represents 7.

youth, the triangle represents
footballers and the rectangle represents
athletes. Which letter(s) represent(s)
athletes among youths who are not
footballers? :

b \y Footballers

a‘ﬁ_u
J

e
Youth

Athletes

l. g

2 gandc

3. f
4. fandd

T & g wt Q feof e W E
FH-H e 5 gE IO Forw &
I8 9 W T qEAl 22

= a B~ O

W 9 gu- gt ), fqe-
Feam & femnfedi # R smam-
faafedl #t $fim sw 21 sh-wA
FW @I o WA fEeney
femfeal = sfm @A &, st geara
w1 fearst T2 287

=

X
R _ Faemg}

g 3¢

f 3 d



22. Find the odd man out

W=
0w »

23.  Identify the number cotresponding to 23,

the “7°.

108 39

1. A
2. B
3. C
4. D

203 625 A’-\ 104

.240 <2\ ‘ 103 309 \J‘if

W N~
GO =~ W W

24, Which of the given alternative ris the 24.

mirror image of REASON, if the
nirror is placed below the word?

S d3IveOon
2. BAvVeOu
A HEA20U
4+ BEV2OU

10

101

BN -
0 3 vk W

REASON ¥ & +9 Tdu @y W%
e m fawedi o 4 $H-w w@w
yfafa= grm?

. 43V20U
2. K3V20u
3. dEA20OU
4. BEV2OU
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25.

26.

|/

A sprinter goes off the starting block
for 100m run and at that instant the
second-hand of a stopwatch had
pointed towards North. He touches the
finishing line exactly after 12 seconds.
In which direction did the second hand
point when he just crossed the
finishing line?

"TﬁE-P North of East

2. 18° East of North
3. 72° North of East
4. 82° East of North

Two candles are of different lengths
and thicknesses. The short and the
long ones can burn respectively for 3.5
hour and 5 hour. After -buming for 2
hour, the lengths of the candles
become equal in length. What fraction
of the long candle's height was the
short candle initially?

. 2
;
5 3
7
3. 3
5
4 4
5

100 ,
A 4:’% 4, Y4

11

25.

26.

TF uEE @ 100 WX # Az awWw
W T SH e Wiy w8 9ds
1 g IW kw7 ¥ 12 ¥ g W
uew AT w1 afam dw T qw
g # W 9% atem 9wt @
W HE R 9 W oAy e @

T =t fewn T w2
. T4 ¥ 18° IWF
2. SWE1se g A
3. @A 72 3WEH
4, SWEgr @A
FEAM e ok nieR #Y 3 vhyafi

T A B sk v dmatrEl w
3.5 W 3R 5 W e wwdt & 2 W2
T WO ® WK SH Hiwwfdl 9
TEE T B T 3 Iy § o
Wﬁ,aﬁmﬂaﬁmmmtﬁl

. 2
7
2. 2
7‘
3. 3
5
5, 4
5




27.

28.

Mother was asked how many gifts she
had in the bag. She replied that there
were all dolls but six, all cars but six,
and all books but six. How many gifts
had she in all?

1. 9
2. 18
3. 27
4. 36

Question given below has a problem
and two statements I & II. Decide if
the information given in the statement
is sufficient for answering the
problem.

K, R, S and T are four players in
Indian Cricket team. Who is the oldest
among them?

1 : The total age of K & T together
is more than that of S

Il : The total age of R & K together
is less than that of S

{. Data in statement ] alone is
sufficient

2. Data in statement [I alone is
sufficient

3. Data in both statements together is
sufficient

4. Data in both statement together is
not sufficient

12

27.

28.

RS

o ¥ gor ™ fF fRE IWR I§R
da & ¥ s WA, vl Tfem -
Eziﬁm,ﬂfﬁﬁ%~3:iﬁm
IR o e §- B: ® @R Sy
I9oh I F fha SUER &7

1. 9
2. 18
3. 27
4. 36

T fky w1 ¥ wE wwem € iR Q
wu | wE 11t fofg wifse f& =0
FoH H R Y 9 & IW R
forn wafe @2

K, R, S 3R T wrdm fiese 4 & =W
faendy € 37wt 4 9§ frg w1 W
g afaw 22

i : K3RTIA # %@ W S FH
o H sife R

N: RIAK I F FA 39 S H
e o %9 2

. FY | F SR %S TarE B

FUA (1 F1 SA A vEd 2
T FoA F T THEY @ 2
AT FoA F ST TEWY W@ T8 2



29, Which of the following diagramjseté 29.
indicate the relation between women,
mothers and parents?

30. In a dairy, there are 60 cows and 30.

buffalos. The number of cows is twice
that of buffalos. Buffalo X ranked
seventeenth in terms of milk delivered.
If there are 9 cows ahead of Buffalo X,
how many buffalos are after in rank in
terms of milk delivered?

( - Uo

1. 10

2.1 - 20
N3 T2 g

4. 13

31.  What is the mirror image of

b3kds | 2R1Ed
A ZhEd

a2t d
&, 2hi3d
M edA3b

(77

B

13

31

=, | ir sfquas & 49 @ gdy
H fro ¥ | FR-d snsfa ey

wF a8 ¥ 60 T ik O ¥, mal &t
g 96 1 gem 9 g ¥y
F oama § X g w176 w@E R
gl oM X FM A g H F F9
amt £ q foret 99 qu T F ww A
9 2

1. 10
2. 11
312
4. 13

bak4s| 7.

%1 0 yfafama sar gm?

ahitd
2died
2bA3d
abA3b

rONS



32-36. Question 32 to 36 are based on the
following information:

o, B,y, 5, €,¢, ¥, nare sitting on a
merry-go-round facing at the centre. &
is second to the left on i who is third
to the left of o . B is fourth to the right
of y who is immediate neighbour of n.
‘¥ is not a neighbour of B or Y. ¢ is not
a neighbour of B.

32. Who is third to the left of B?

l. a
2.y
ey

4. ¥

33. In which of the following pairs is the
first person sitting to the immediate
right of the second person?

. 8, ¥

2 Be
3 nB
4. ¥, q

34.  What s ¢'s position with respect to ‘¥?

""Third towards right
2. Third towards left
3. Second towards right

4. Second towards left

32-36. U¥T 32 | 36 f2r Ry Wy Ak w
amrrﬁa%
b1, 5, €,4,¥,n T TFIA
(H-T-m3ve) W B 5w ¥ o 0
FX F AR 5, W A AR g
Wmﬁa%aiaﬁﬁah?ﬁm
WA R} B,y F T AR A wmm
RE M nF Frerean vgm 31 v, p
oAy FT WS T 21 ¢, pH TSR
= 2l

32. B 94 3R dwg w1 20

oo -
S e = @

3. fu o e oW § @ fead we
=, TR & faormer < o & &)

5, ¥
p.€

n, B
‘P,n_

ol

4. WE Y Wy

1. Tt @R dag
Tl st dwa

3. Afet iR gmw

4. = IR T

4



35.  Who is sitting between a and (37
1. Both € and n

2. Both¢andy

3 Only €

4. Only ¢

36.  How many of them are sitting between
y and B?
1. Oor6
2. lors
3. 2or4

U7

37.  In a school 120 boys have registered
for a singles carrom tournament. Each
match eliminates one player. How
many matches are to be organised to
determine the champion?

1. 60
2. 6]

38. Amongst five friends, Lata, Alka,
Rani, Asha and Sadhana. Lata is older
than only three of her friends. Alka is
younger to Asha and Lata. Rani is
older than only Sadhana. Who
amongst them is the eldest?

Lmé

2. Lata
3. Alka
4. Sadhana

[ >3
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36,

37.

38.

Lo p v F

1. & Ea‘?ﬁn
2. Ay
3. Ed €
4, wHAA ¢

y a?ﬂﬁé?mmﬁwéégq%‘?
. 06
2. 15

3. 294
4. 3

frerera § 120 faenfedl 3 W #
T Bd-wiadfra § G HE
= aw § u foue fEea s 2
wEfea fuifm s@ & fo fead
Bl %1 @A K ST

1. 60
2. 61
3. 119
4. 120

o, e, T, oM SR e @
g wefel o @ wew 9 wRfe
[ T ) e, wEn R @ W B
3 T Faa wuw @ w€ ¢ T 4
g w82

- 4L Z AR 2S

4, 9T

—

bi >4 R



39.

Twenty four teams are divided into
4 groups of six teams each.
Within each group the teams play
each other exactly once. The
winners of each group then play in
the semi-finals, Winners of  the
semi-finals play in the finals and
losers  for the 3w place. How
many matches are played?

1. 60

2. 63
‘-J(

4. 66

40-41. Take the given statement(s) as true

40.

an.d decide which of _the conclysion
logically follows from the
statements,

Statement: A} Actors are Musicians,
No Musician is a Singer. Some Singers
are Dancers. Some Dancers are
Masicians,
Conclusions:

>k Some Actors are Singers

II : Some Dancers are Actors

I No Actor s a Singer

L. Only conclusion I follows,

- Only conclusion [1] f'ollows.

3. Exactly one of conclusion I, I
follows.

4. Only conclusion IJ follows.

ISX9260+2+ym

39, ﬁaﬁqﬂﬁﬁwzﬁ'%wuﬁﬁ
a‘u‘aw%nmwﬁ?ﬂﬁm
ﬁ#ﬁ@w@aﬁé’fmw
ﬁﬁﬁmmﬁtﬁwﬁ@wﬁ%i
ﬁﬁfmmaﬁﬁm?ﬂnwmﬂ
éaﬁ%a?kmﬁawﬁz’hamwm
%m@w%lwmﬁﬂa@é

1. 60

2. 63

3. 64

4. 66
40-41: I fau M W ey =
A TR Iy e wfEm frad o
Frofe |

40. m-qsﬁa‘r‘qﬁmﬂ*ﬂa—cﬁné‘rﬁé
aﬂﬂ*ﬂm:nmaﬁ%n%w
T ¥ Fo e wiewr &

Frened _
I - 3% afim o &

Il - 35 & sfidq 3
HI - %% sifiren s = &

. éﬁaﬁﬁaﬂlmér
. e P 1wy 8

I 4 mﬁﬁaﬁé@ﬁm@
e o1y 3

. W freny gy @

e SR



- 41.  Statement: All Cioc arms. No

Clocks are Cuckoos. AltCuckoos are
Alarms. Some Cuckoos are Birds.

Conclusion:

I : Some Alarms are Birds.
A" No Clock is a Bird
iIl : All Birds are Alarms

1~ Only conclusion 1 follows.
ﬂly conclusion I1 follows.
Only conclusion IiI foHows.
4. Both conclusions II and III follow

42.  Two players X and O play a game of
“noughts and crosses” on a 3x3 grid.
The purpose of the game is for a player
to get 3 symbols belonging to the
player in a straight line (vertically,
horizontally or diagonally). Each player
marks one symbol on his or her turn.
After two moves (1 turn each), the grid
looks as follows with X to play next.

Where should X put his Y
symbol next so that he
will always win this game
finally regardless of how X[ g |y
well O plays?

mmm row right corner

2. Bottom row middle cell

3. Middle row left most cell

4. Itis not possible to always ensure
X wins if O plays carefully

17

41.

42,

wAT - gl ofEdl s &) X u
w99 TE 21 T wige e ¥) 79
waa uaft ¥

foreered -

I - F9 o et &

I - g uEt et = R

I - AR 9af 3

1. Fad frad | w1
2. ad freed 1A )
3. had Y = R
4. 3 Frswd 11 3R oA

3 faeEt X 3t 0 & @@ ‘9 ek
F' 3x3 filg W Be@ ¥ @ #
e I8 ¢ 5wk ®e & o fag
ww g ¥ (dfew, 34, fdw) o
T € T faee o v w
fag o 21 @ WA & R (W
# TH-GF R X F) R U B
fog fas %o tw frwa 2

g $ et & foe x
Wl erren fag el T
=gy foa o et off
TWH O IW™ A A
bl

1. T=g 9 = of § gfen w5
2, 999 A9 w ofed % e owmr §
3. &9 =t vfw % wag 9 9m o
4. Ak O wANF gdw gem € @ x

%I Sia sde Hwg 7= §




43. Anelectrical circuit for a set of 4 tights
depends on a system of switches A, B,
C and D. When these switches work
they have the following effect on the
lights: They each change the state of
two lights (i.e. on becomes off and off
becomes on). The lights that each

switch controls are as follows.

A [ B C ‘ D ]
l and 2 J 2and 4 I and 3 ! 3andi]
(€] -on
[O] = oFF

In configuration 1 shown below, switches
CBDA are activated in tumn, resulting in
configuration 2. One switch did not work
and had no effect at all. Which was that

switch?
'O '®
§o) 0
3
'® @)
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A, B, C, D and E are sitting on a
bench. A is sitting next to B, C is
sitting next to D, D is not sitting next
to E, who is sitting on the left end of
the bench. C is on the second position
from the right. A is to the right of B
and E. Counting from the left, in
which position is A sitting?

1. 2

3.5

4. Cannot be determined from the
given conditions.

I left home for bringing milk between
7Tam and 8am. The .angle between
the hour-hand and the minute-hand was
90° 1 returned home between 7 am
and 8 am. Then also the angle
between  the minute-hand  and
hour-hand was 9¢°. At what time
(nearest to second) did | leave and
return home?

I. 7h 18m 355 & 7h Sim 24s
7h 19m 24s & 7h 52m lds
7Th20m42s & 7Th 53m 1 s

b

7h 21m 49s & 7h 54m 335
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1. 7h 18m 35s 99T 7h Slm 24s
2. 7h 19m 24s 991 7h 52m 14s
3. 7h 20m 425 T2 7h 53m | Is

4. 7h 2im 49s 91 7h 54m 33s
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I left home at 3:00pm and returned at
3:48pm. The clock was rotated by 45°,
so that when 1 left, the hour-hand of a
clock was pointing along the south-
east direction. In which direction
would the hour-hand point when
I returned?

1. 15° East of South

,% 21° East of South

3. 63° South of East
4., 27° South of East
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3. qd @ 63° fw FH 3N

4. T8 Q 27° <fEW H IR
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When the above is folded into a cube, which is
the only cube that can be produced amongst
the following?

50.

What will be water image of CHICK?
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50, N 53 W W 9 $H-W CHICK #

4 CHICK C H I'C K Sevfafaa Bm?
2. DHION 1 CHICK
3. KCIHC > Shion
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